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[ |mEEsscE | | ERRSLERUHEEORBELELT 51
2R 4 BEF | GBS |epxs| #E | BH | @ B |9z-ouss| REDHOAE| 8ivsE MELES KR
S47 2 B R 3 1,243 = i AR IR - |H23 #WBIBRET
H25 11 B R 3 4407 = BEF -  |H25 HEIFET
BANER S49 5 e R 3 2,673 = [BEZEEY - |H23 #WBIBRET
H13 9 B S 2 522 = i = =
S47 6 B s 2 1,059 = eSS - |H28 #EIERET
B H17 1 B R 2 6,433 = i = =
H17 2 B R 2 1,459 = it = =
S47 10-1 B R 3 1,046 = e R - |H24 #WHEBIEET
. S51 10-2 % R 3 1,130 - [BEZEEY -  |H24 WRIERET
BHNER - =
S57 15 B R 4 2,770 = e R - |H24 #WHEBIEZET
S47 11 B s 2 1,066 = eSS - |H27 WERIERET
S46 1-1 5 R 3 1,227 = it A R - |H22 ®WRIERET
S50 1-2 e R 3 2,254 - [BEZEEY - |H22 #@HEIEET
BER/NER S55 1-3 5 R 3 1,454 = it A R - |H22 ®WRIERET
S50 1-5 e R 3 255 = [BEZEEY - |H22 #HEIEET
S47 2 B S 2 1,066 = BELGEEY - |H27 #HEBIEET
S53 1-1 #® R 3 950 = DG -  |H24 #HERIERET
S55 1-2 53 R 3 444 - it AR A - |H24 #WEBIBRET
K S53 1-4 ® R 3 2,103 = DG -  |H24 #HERIERET
S53 1-5 B R 3 1,717 - it =R - |H24 #WEBIBRET
S60 11 #® R 3 798 = it = =
S53 6 B S 2 1,116 - it EE AR - |H28 #HEBIBZET
S62 1 e R 3 3,539 = it = =
s S62 2 3 R 2 1,420 = #iit = -
RN H2 7 % R 3 886 - HmE -
S63 3 B R 2 1,079 - i = =
- s H3 1 ® R 3 4,781 = #ii = -
KREFRER R Ha 6 B R 2 1378 - R -
S48 10-1 #® R 3 1,522 = DG - |H24 #HERIERET
WAL S51 10-2 ® R 2 939 - it AR -  |H24 #AIEET
S53 12-1 B S 2 931 = it AR R - |H25 #HEBIERET
S49 8-1 ® R 3 484 = i AR -  |H25 #WEBIERET
. S49 8-2 ® R 3 1,090 = it AR R - |H25 #HEBIERET
AHNER = — . =
S55 13 B R 3 1,288 = i AR -  |H25 #WBIERET
S53 10 B S 2 869 = DG - |H27 #HRIERET
H21 14 B R 2 1,694 - WEF - |H21 HREIZRET
EEN S55 6 #® R 2 672 = 2R - |H23 2%&EBMRET
- H5 12 53 R 2 999 - it = =
S52 5 B S 2 869 = DG - |H27 #HRIERET
. . S48 20 53 R 3 2,979 = i AR - |H21 #HBIERET
RN = =
S51 23 B S 2 869 = it AR R - [H28 #HEBIERET
H22 22 B R 3 2,051 - WEF - |H22 HEIEET
. . S48 16 &% R 3 1,251 - [DEEGEY - |H25 #WEATIHESET
LR as S57 18 % R 2 433 - e -
S52 17 = S 2 873 = it AR R - |H26 WEMIERET
. S50 12-1 ® R 3 2,355 - eI - |H25 WEMIERET
K HEERINERR —
S53 15 = S 2 869 = it AR R - |H26 WEMIERET
S45 1-1 B R 2 1,027 - eI - |H24 #WBIBRET
S45 1-2 B R 2 800 = it AR R -  |H24 WEIERET
BN S45 1-3 ® R 2 310 - eI - |H24 #WBIBRET
S52 1-4 B R 2 860 = it A R -  |H24 WEIERET
S55 8-1 B R 2 1,330 - eI - |H24 #WBIBRET
S47 2 = S 1 700 = it AR R - |H25 #HBIEET
T $57 1 3 R 3 2679 - Hii R -
TENFR S58 5 B R 2 917 - e -
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EENHHE MEHENLERVUTHEEOBREZVLELT HR
¥R 42 BEE | GBS |ppxs| BE | BY | @ B |#xoweE| MESHOAEE| 8iusE it AR KR
S45 1-1 B R 2 1,466 = LG - |H24 #WBIERET
S47 3-1,2 B R 4 1,331 - eIV -  |H24 #RIERET
AT — R4 S57 12 B R 3 1,479 - 2R - |H22 2kBMEET
H6 19 B R 2 1,303 = i = =
S55 11 #% S 1 487 - e -  |H28 #HEBIEZT
S47 1-1 1 R 3 2,075 = [BEZEEY - |H22 #HEIEET
S41 2 5 R 2 777 = [BEZEE - |H22 #HEIEET
FRIE S — h S47 3 L5 R 3 988 = [BEZEEY - |H22 WRIERET
S47 4-1 B S 2 1,500 = [FEZEE - |H26 #HBIEZET
S54 9 # S 1 445 = eSS - |H26 #ERIEET
H24 13 B R 3 4,791 = EF - |H23 HEIZEET
IR = hE S56 6-12 | &R((#&) R 2 1,328 - 2R - |H23 2REMET
H9 10-1,3 | EBEB) R 2 1,638 - i = =
S59 1 B R 4 5,222 - = -
s 0 e s S59 2-6 ® R 3 201 = i = =
HIREE SRR H5 7 = R 2 862 - R -
S59 2-12 | B(#&) R 3 2,249 - i = =
H26 23 ® R 3 5,208 = WEEF - |H26 HEIERET
b s S54 1-4 3 R 2 573 = 2R - |H20 2RBEIET
RIAE =R S57 17 B R 2 1,180 - HmE -
S47 13 # S 1 311 - it AR - |H28 #HEBIBZET
S47 9-1 #® R 2 1,150 = DG - |H25 #HERIERET
. S48 9-2 B R 2 1,265 - it AR -  |H25 #WEBIERET
S56 11-1,2 | &3G&) R 3 1,368 = DG - |H25 WHMIERET
S45 5 B S 2 766 - it AR A - |H27 #HEBIBRET
S43 1 ® R 2 1,437 = DG -  |H22 WRIERT
S43 2-1 B R 2 925 - it AR A - |H22 #HRIEET
o $60 13 ® R 2 882 - #ii = -
RIBE=RER Ha 14 #® R 2 391 - R -
H12 16 B R 2 1,642 = it = =
S49 9 % S 1 348 - it AR - |H28 #HBIBZET
S59 1 B R 3 2,309 = it = =
R SE I A S59 3 B R 3 1,055 - it = =
S61 4 B R 2 1,338 = it = =
WSIFHEEDMIECIA R
| |mEEsscE | | ESRALERUTEEORRELELT 5
£ EBEF | BBS |epxs| #E | B | @ B | zres | WEZHOAZE| s i =R KR
STEYMHE H10 5 B w 1 977 - it = =
BHHE S47 1 53 S 1 536 - DG -  |H28 WHMIERET
AHFELHE S54 1-1 53 S 1 529 - e - |H27 #EIEET
HEN S FEE S46 1-1 ® S 1 496 H26 2R 006 [H31 ZELEFHRFE
BA 4 i ] S50 1 3 S 1 500 H26 2REHR 004 |H30 CELBEHRTE
AHSHE S56 3 B S 1 354 = it AR - |H28 WHMIERET
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i ELE i & THERE 2RBI e & =t
w & 40 11 29 40 0 0 0
158% REE 15 4 11 15 0 0
a i 55 15 40 55 0 0
VIHER B4R
R H D MEEAVERUVEREVHELY HEE
£ KR 8| EpwEn R REH p—— m@;ﬁ;ﬁ . — — mﬁgﬁ,ﬁﬂ .
w & 22 10 12 22 0 0 0 0
8t KEE 8 6 2 8 0 0 0 0
5 - Z 0Ot 4 0 0 0 0
a &t 34 16 18 34 0 0 0 0
VHE B4
A H D MEEAVERVHEREVLELY HEH
RA BRI R g & 3 B EmE oppw | WREREERL o gy
= 1 3 2 0
o a &t 1 3 2 0




